#03 SA Sets toapins (G @

Name *
Section *
< Theinterval (-3,8] written in set builder form is * 1/1

{x: x€E€ R,-3 <x <8} {x: x€ R,-3 <x <8}

{x: x€E€ R,-3 <x<8} [x:x€E N,-3<x <8}



O Option 3 O Option 4

+~ Theinterval [-3,0] written in set builder form is * 1/1
Ix:xisaninteger,—3 < x <0} {(x:x€ R,-3<x <0}

O Option 1 @ Option 2 v
{-3,-2,-1,0} (x:x€ R,0<x< -3}

O Option 3 O Option 4



v/ The following set in the form of an interval is * 1/1

{x:x€e R,0< x <3.5}

(0, 3.5] [0,3.5)
Option option 2
(0,3.5) (3.5,0)
@ Option3 Y Option 4
o 22
C={a, b, {x,y},c}, then {x,y} CC
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